
Argos Stool
Assembly InstructionsASSEMBLY INSTRUCTIONS FOR ITEM# CTM-5505-B

Parts List:

A.Back cushion with back steel plate-----------------------------------------------1set
B.Seat cushion --------------------------------------------------------------------------1pc
C.Armrest--------------------------------------------------------------------------------1pair
D.Mechanism----------------------------------------------------------------------------1pc
F.Footring---------------------------------------------------------------------------------1set
G.Cylinder--------------------------------------------------------------------------------1set
H.Base -----------------------------------------------------------------------------------1pc
I.Casters----------------------------------------------------------------------------------5pcs
E.Screws(1/4"*5/4"inch) --------------------------------------------------------------4pcs
E1.Screws(1/4"*1"inch) ---------------------------------------------------------------6pcs
E2.Screws(1/4"*1"inch) ---------------------------------------------------------------4pcs

Assembly Instructions:

Carefully unpack all parts and identify them with the parts list before attempting to assemble:

1. Remove all cardboard and plastic covering from chair parts.
2. Attach both left and right Armrest (C) onto the bottom side of seat cushion (B) by using 6 screws with washers (E1).
3.Attach mechanism (D) onto seat cushion (B) by using 4 sets screws(E2).
4. Attach the underside of back cushion (A) into the bottom side of aggregation of mechanism(D) and seat cushion(B)
    and armrest (C) by using 4sets Screws (E).
5. Push the 5 casters (I) into the holes on the top of the 5 star base (H).
6. Insert the gas cylinder (G ) into the center holes on the top of 5 star base (H/I).
7. Insert the footring (F) onto the gas cylinder ( G ).
8. Insert the pre-assembled seat and back with arms aggregation unit onto the gas lift to finish the assembly.

ASSEMBLY INSTRUCTIONS FOR ITEM# CTM-5505-B
Parts List:

A.Back cushion with back steel plate-----------------------------------------------1set
B.Seat cushion --------------------------------------------------------------------------1pc
C.Armrest--------------------------------------------------------------------------------1pair
D.Mechanism----------------------------------------------------------------------------1pc
F.Footring---------------------------------------------------------------------------------1set
G.Cylinder--------------------------------------------------------------------------------1set
H.Base -----------------------------------------------------------------------------------1pc
I.Casters----------------------------------------------------------------------------------5pcs
E.Screws(1/4"*5/4"inch) --------------------------------------------------------------4pcs
E1.Screws(1/4"*1"inch) ---------------------------------------------------------------6pcs
E2.Screws(1/4"*1"inch) ---------------------------------------------------------------4pcs

Assembly Instructions:

Carefully unpack all parts and identify them with the parts list before attempting to assemble:

1. Remove all cardboard and plastic covering from chair parts.
2. Attach both left and right Armrest (C) onto the bottom side of seat cushion (B) by using 6 screws with washers (E1).
3.Attach mechanism (D) onto seat cushion (B) by using 4 sets screws(E2).
4. Attach the underside of back cushion (A) into the bottom side of aggregation of mechanism(D) and seat cushion(B)
    and armrest (C) by using 4sets Screws (E).
5. Push the 5 casters (I) into the holes on the top of the 5 star base (H).
6. Insert the gas cylinder (G ) into the center holes on the top of 5 star base (H/I).
7. Insert the footring (F) onto the gas cylinder ( G ).
8. Insert the pre-assembled seat and back with arms aggregation unit onto the gas lift to finish the assembly.

ASSEMBLY INSTRUCTIONS FOR ITEM# CTM-5505-B
Parts List:

A.Back cushion with back steel plate-----------------------------------------------1set
B.Seat cushion --------------------------------------------------------------------------1pc
C.Armrest--------------------------------------------------------------------------------1pair
D.Mechanism----------------------------------------------------------------------------1pc
F.Footring---------------------------------------------------------------------------------1set
G.Cylinder--------------------------------------------------------------------------------1set
H.Base -----------------------------------------------------------------------------------1pc
I.Casters----------------------------------------------------------------------------------5pcs
E.Screws(1/4"*5/4"inch) --------------------------------------------------------------4pcs
E1.Screws(1/4"*1"inch) ---------------------------------------------------------------6pcs
E2.Screws(1/4"*1"inch) ---------------------------------------------------------------4pcs

Assembly Instructions:

Carefully unpack all parts and identify them with the parts list before attempting to assemble:

1. Remove all cardboard and plastic covering from chair parts.
2. Attach both left and right Armrest (C) onto the bottom side of seat cushion (B) by using 6 screws with washers (E1).
3.Attach mechanism (D) onto seat cushion (B) by using 4 sets screws(E2).
4. Attach the underside of back cushion (A) into the bottom side of aggregation of mechanism(D) and seat cushion(B)
    and armrest (C) by using 4sets Screws (E).
5. Push the 5 casters (I) into the holes on the top of the 5 star base (H).
6. Insert the gas cylinder (G ) into the center holes on the top of 5 star base (H/I).
7. Insert the footring (F) onto the gas cylinder ( G ).
8. Insert the pre-assembled seat and back with arms aggregation unit onto the gas lift to finish the assembly.

ASSEMBLY INSTRUCTIONS FOR ITEM# CTM-5505-B
Parts List:

A.Back cushion with back steel plate-----------------------------------------------1set
B.Seat cushion --------------------------------------------------------------------------1pc
C.Armrest--------------------------------------------------------------------------------1pair
D.Mechanism----------------------------------------------------------------------------1pc
F.Footring---------------------------------------------------------------------------------1set
G.Cylinder--------------------------------------------------------------------------------1set
H.Base -----------------------------------------------------------------------------------1pc
I.Casters----------------------------------------------------------------------------------5pcs
E.Screws(1/4"*5/4"inch) --------------------------------------------------------------4pcs
E1.Screws(1/4"*1"inch) ---------------------------------------------------------------6pcs
E2.Screws(1/4"*1"inch) ---------------------------------------------------------------4pcs

Assembly Instructions:

Carefully unpack all parts and identify them with the parts list before attempting to assemble:

1. Remove all cardboard and plastic covering from chair parts.
2. Attach both left and right Armrest (C) onto the bottom side of seat cushion (B) by using 6 screws with washers (E1).
3.Attach mechanism (D) onto seat cushion (B) by using 4 sets screws(E2).
4. Attach the underside of back cushion (A) into the bottom side of aggregation of mechanism(D) and seat cushion(B)
    and armrest (C) by using 4sets Screws (E).
5. Push the 5 casters (I) into the holes on the top of the 5 star base (H).
6. Insert the gas cylinder (G ) into the center holes on the top of 5 star base (H/I).
7. Insert the footring (F) onto the gas cylinder ( G ).
8. Insert the pre-assembled seat and back with arms aggregation unit onto the gas lift to finish the assembly.

compeloffice.com   |   773.253.4758

NOTES

Place all laminated parts on a cleaned and smooth surface such as a rug or carpet to avoid the parts from being scratched. 
Check to be sure that you have all parts and hardware. 
Remove all wrapping materials, including staples and packing straps before you start to assemble. 
Keep all hardware parts out of reach of children. 


